Names: Date:

Distributive Dice

Directions:

Roll to determine which player goes first. The player with the higher roll goes first.

The player will roll the die two times. He or she chooses a problem to complete from the row and column combination
of the dice. (Ex: If you roll a 3 and a 5, you may complete the problem in column 3, row 5 OR column 5, row 3).

The partner verifies the answer. If it is correct, the player who answered marks the space as his or hers with initials.

A player wins when he or she gets 6 in a row (across, down, or diagonal).

1 2 3 4 5 6
18(x + 2) 7(1 - 4x + 3y) -5(m +7) -3(ab + 13) -(h +2) 3(8 =%
6(5—w) 6(e +2) 7(2a-3) 12(9 -v) 7(x*+ 3x) 7(4x° - 6)
14(d*+ 1) -3(6x +9) +1 10(9b + -c + 8) 8(x’* + 3) 4(-d +9) 9(2x* + 8)
X(3 +y) -4(-r - 3) 7(x - 6) 7(4 +u) 5(8 - 9w) -6(xy — 12)
-6(m + 6) p(-7 + 5w) -2(y +9—8x) t(8 + 8x) 9(y> + 3xy) -2(2g-11)
3(4-6n) 2(9 - w) r(16 + 2w) 12(-w + 2x) 8(7 + kj) -(3-2x)







